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Do not turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS)—provided_

You are not allowed to use a calculator.



Questions 1 to 10 cary 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the coirect answer.,
Make your choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer

Sheet.

(20 marks )

3 ones, 50 hundredths and 2 thousandths is

(1
()
(3)
(4)

0.352 -

3.052
3.502
3.520

(N
2
3
4)

0.225%
2.25%
22.5%
225%

2. What is the value of the digit 7 in 237 0927
(1) 7
(2) 70
{3) 700 -
(4) 7000 _
3. The population of a village is 65 098,
Express this number to the nearest hundred.
{1) 65000
(2) 65100
{3) 66 000
(4) 66 100
1.
4. Express 22 as a percentage.

(Go to the next page)




Find the ratio of% hours to 50 minutes.

M 3:s
(2) 5:3
(3) 5-6
4 65

Express 20cmas a percentage of 5 m.

1 2% )
2 20%

(3 40% .
“@ 4%

Peter bour’ed K2 f%f water into some glasses, each of a capacity of

1Y
330 @@ What is the maximum number of glasses he can fill?

(1) 14 -
2 15
(3) 16
@ 17

Given that /x is haif the size of .~ y.find ~y.

120°
y
(1) 80
2) 120°
3 160°
4 240°

{Go to the next page)



9. The average mass of 5 girls is 36 kg. Find their total mass.
(1) 108 kg
(2} 144 kg
(3) 150 kg
4 180 kg
10. The figure is made up of 12 equal squares joined together. What fraction of
the figure is shaded?
1
M 3
1
@ 13
5
G 12
1
@ 3
1 _ ;
~ 11. Kenny gave 25% of his_money to his mother and saved 5 of the remainder.

If he saved $300, how much did he give to his mother?

(1)
(2)
3
“)

$240
$500
$1200
$1500

{Go to the next page)




12.  The average cost of a few books was $8. After a book which costs $32 was
added, the average cost becomes $12. How many books are thére now?
() 5
2 6
3 8
... @ 4
13.  The figure below is a square made up of 4 parts; E, F, Gand H. E and F are
squares that form 50% of the figure. Which of the following 2 parts will add
5
up to form g of the figure?
G
H o
) G+E
2 G+F
{3) H+G
(4) H+E
14.  John spent 20% of his salary on a television set and 40% of his remdining

money on a DVD player. If he was left with $1800, how much was his satary.

(1)
@
3
)

$2250
$3750
$4500
$5625

(Go to the next page)



15.

2
Given that =

of Heary's stickers is equal to % of Jason’s stickers, what

fraction of the total number of stickers is Jason’s stickers?

(M
(2)
3

)

23

15
23

23

23
15

(Go to the next page)
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Questions 16 to 25 carry 1 mark each. Write your answers in the space provided. |

For questions which require units, give your answers in the units stated. (10 marks)

16.  Arrange these numbers from the largest to the smallest.
109 91
1000 - 0.091, 0.901, 100
Ans:
17 48x22=23x22+1x22+ x22. i
Ans: ]
18.

Express 84% as a fraction in its simplest form.

Ans:

18.  Find the shaded area of triangle ABC.

Ans: cm?

(Go to the next page)

Do not write
in tis space




Do not write

12 in this space
20. Express 55 as a decimal.
Ans:
21. WXY is an isosceles triangle and ZWXY = 62°. /XWZ = 24°_ Find ZZWY.
w
4 i _
62°
X Z Y

Ans: “

22, The fength of a garden is 30 m. lis brea

dth is 12 m. Find the area of the
garden.

Ans: . m?

(Go to the next page)



23.

Four copies of Reader digest cost $10. How much will two dozen cobies
cost?

Ams: $

24.

in the figure below, e = /f Find Ze. -

Ans: s

25,

In the rectangle DEFG, L and M are mid points of DG and EF respectively.

: £
Express the shaded area as afraction of rectangle DEFG.

Ans:

Do not write
in this space

- Total marks for questions 16 to 25
{Go to the next page)




j

Questions 26 1o 35 carry/4 marks each. Show your working clearly in the space
below each question and write your answers in the spaces provided. For questions
which require units, give your answers in the units stated. {20 marks)

26. _ % of a numberis 32. What is % of the number?

Ans:

Do not write
in this space

7 - i
27. Express _2§ as a decimal, rounded off to 1 decimal place.

Ans:

28.  Alan, Ben and Colin like to collect stamps as a hobby. The gal:%le below
shows the number of stamps each boy collected as the weeks progresses.

From the pattern, which boy collected the most number of sta'rpps by
the end of week 67 ‘

Week 1 | Wedk 2| Weeki3 | Week 4 | _ 7 T Week6 |
Alan |4 |13 2p 13t . :
Ben (8 16 24 32 P :
Colin 5 11 18 26 S B
Ans:

(Go 16 the next page)
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29.  Four pupils sat for 3 test. The maximum score of the test was 50 marks.

Given that one pupil scored 10 marks, find the highest

possible average
score of all 4 pupils.

Ans:

7
30.  The figure below show the line BC. Draw g triangle in which _» ABC is 42°
i and ABis 7 cm. '

B C

31. Janet and Loujs shared the

cost of a gift. Janet paid 35% of the cost. Louis
. paid $90 more. How much

did Louis pay?

Ans: §

Do not write
in this space

]

—

(Bo to the next page)
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him another $66, his savings increased by 30%. How much money did he
have in his savings at {irst?

Ans: $

32.  Gary has 40% as many stickers as Henry and 50% less than what Ben has.
If they have a total of 66 stickers, how many stickers does Henry have? Do not write
. . in this space
- Ans:
33 In the figure below, not drawn to scale, ABCD is a rhombus.
Find angle £EAD. -
- B
100°
A C
E
D pa—
Ans: °
34. Daniel had a sum of money at first for his savings. After his méther gave

.

(Go io the(ne;q page}
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35.

The table below shows the number of storybooks borrowed by pupils in a

class in the month of January. How many pupils borrowed 3 books or less
tn January?

No. of storybooks 0 1 2 3 4

No. of pupils 5 16 7 9 S5

Ans:

_ End of Paper 1
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Do nof write
in this space
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the
space below each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
{20 marks)

1. in a stadium of 3200 peopie, 8C0 are children and the rest are adults. How
many percent more adults than children are there in the stadium?

Ans: Y%

3
2. Kathy painted 5 of a fence on Monday and another 25% of the remaining

fence on Tuesday. What percentage of the fence has not been painted?

Ans: Y%

3. - The sides of a triangle is in the ratio of 2 : 4 : 5. If the shortest side of the
triangle is 6 cm, find the perimeter of the triangle.

Ans: cm

(Go to the next page)
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in this space




4.

Mr. Lim bought prawns and 1

fish cost $11.80, how much did the prawns cost if he spend $9.80 aitogether?

2

kg of fish from the supermarket. If 1 kg of

Ans: $

5.

There are 3300 men and 1700 women

are corrected 1o the ricare
between these 2 numbers

Ans:

attending a concert. Both figures
st hundred. Find the greatest possible

difference

Do not write
in this space

{Go to the next page)




For questions 6 to 18, show your working clearly in the space provided for
each question and write your answers in the spaces provided. For questions -

which require units, give your answers in the units stated Do not writz
The number of marks available is shown in brackets { ]at the end of in this space
each question or part-question. (50 marks)

6. The area of the shaded figure WXYZ is 54cm? . Find the area of triangle WXY

1
given that ZE is 2 Of XF.

Ans: 13]

7. The ratio of the number of goldfish o the number of guppies is 3: 5in a tank.
If 34 more goldfishgg are added into the tank, the number of goldfish will be 4
times the number of guppies. How many guppies are there in the tank?

Ans: 37

(Go tg.the next page)




LMNO is a paralielogram and DEQ js a triangie. Find ~d.

Ans: [3}
-

—_—

Do not write
in this space

9. The area of square X is 3 the area of rectangle Y. Afier the shaded area

is being cut out, the unshaded area of rectangle Y becomes 4 limes the
unshaded area of square X. Given that t

he shaded area is 27 cm? find the
area of the square. '

“Ans: , {31

(Go to fhe next page)



10. A bag of chocolates was shared among 36 pupils. 9 of them gave all their
chocolates to the rest of the pupils. As a result, the rest of the pupils received
3 more chocolates each. How many chocolates were there in the bag at first?

Ans: [3]

Do not write
in this space

The ratio of Julian's money to Mandy's money is 3 : 5. The ratio of Karen's

money to Julian's money is 1 : 4. If Karen had $30, find the total sum of
money shared by the three children.

Ans: - [31

(Go l"g the next page




12. Right angled triangle ABC has a hei

13.

ght and base of 8 cm and 6 cm
respectively. 4 such similar triangles are used to form the square EFGH.
Find the side of the square EFGH.

.
8 cm ) 4\
/J &
B C 7
8cm g
H G -
Ans:

ns: (4]

The figure below shows a recta
D. The ratio of area A to that
thatofarea Cis 2 : 3. W7 is
area of the rectangle WXYz?

ngie WXYZ divided into 4 parts, A, B, €Cand
cfarea Bis 1: 3 and the ratio of the area B o
€ cm and the area of D is 30 em ? . what Is the

Do not write
in this space

C \ A
D B
Z. 4
~Ans: [4]
(G{o}e’the nefbpage)




14. The tickets for a show are priced at $12 and $8. The number of $12
1 2 ) Do not write
tickets avaitable is ‘lz times the number of $8 tickels. 3 of the in this space

twelve-dollar tickets and all the eight-dollar tickets were sold. The ticket -
sales amounted to $6400. How much more would have been collected if
all the tickets were sold? '

Arls: [4]}

;G’o to the next page)




15.

. . . . 3 ..
Richard spent $750 of his salaiy on a washing machine and spent 5 of his
1 Do not write
femaining money on a refrigerator. Given that he was feft with = of his i this space

4
originai sum, find his salary at ﬁrsEL

LA

Ans: A [5]

(Go tothe Hext page) ‘




16.  Aaron has thrice as many marbles as Lucy. After Aaron lost 45 marbles and

Lucy bought another 6 more marbles. Aaron still has 3 marbles more than Do not wiite
Lucy. How many marbles did Lucy have at first? n this space

Ans: [5]

~

(Go to the next pége)




17.

NHL delivery company charges $7 for goods delivered on time and $5 for
goods delivered iate. in 2007, NHL collected $5430. For every 27 goods
delivered, 23 were delivered on time and 4 were delivered late.

(@) What was the total number of goods delivered on time?

(b) How much less money did NHL collect in 2007 due lo the iate delivery
"~ of goods?

Ans: aj _ [3]

Ans:. b) [2]

{Go to the next p:ége}
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in this space



3 ) 2 ) ; . ] i
18. 5 of Joel's savings is equal to 7 of Mathew’s savings. The difference in their Do not write

{ in this space
saving is equal to 5 of Ben's savings. Joel saves $24 less than Ben.
4 2

(a) Find the ratio of Joel's savings to Mathew's savings to Ben’s savings

{b) Find the total amount of saving of the 3 boys. i

Ans: g} [2]
Ans: b) ~ [3]
- &End of Paper -
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Paper 2

1)3200-800=24 /%adults onday—3 60°/o

2400- 805%%#600 e D

1600 .ﬂ*lﬂ 200% Remammg 100-60=40%
Tuesday=25 x40 =1 '

’*":"-“E:i‘"i‘ 2o
g N
/> bashgh

2
9)

27 { 1u {27 | 1lu

X127
Y

—

44
1u=27+27=54 ‘
Area of square X=27+54=81cm=

10)36-9=27
27x3=81
81+9=9
39x9=324
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12) 12 x6cmx8cm=24cm:
24cm2x4=96cm:

i gcmx2cm 4cm:
96em,+4cm:=100cm:
100cm,=" 10cmx10cm
side=10cm

;~V_
$750 refrigerator

3u>$750 1u->54:2=27

Page 3 -



17) ontime

+$181

se e
et

12u>$24
1u>$24
53u->53x$2

Page 4




